® —4x% - xy




2. (At 1)(x+3y) S AATE W, xy o] A5 FokefEt

> E.

> = 12

(4x + 1)(x+ 3y) = 4x* + 12xy + x + 3y
w2bA xy O] Alg-= 120]t




3. (2x-5)l +4a=42+bx+21 LW, a+b 9 F? (Fa b=
Aol

@-2 ©-1 03 @ 8 ® 19

B ~
(2x)2 —=2x2x x5+ 5% +a=4x? —20x + 25+ a C|B=
25+a=21
a=-4, b=-20
La+b=-24




D x2-3x-3 @ x2-3x-6 ® 2-3x+6
@x2—6x+9 ® x24+6x+9

X -2xx%x3+(-3)2=x*-6x+9




5. (x+3y)(x-3y) & H7/N5tH?

® x-3y @ x? - 3y? ((@)62—9)12

@ x2+9y? ® 2x2 - 9y?

x2 = (3y)% = x2 - 9y?




3
02—10

1
2

@

1

4

1

4

ax(=3) =

ax22a-+




7. 2x(*+3x-1)=a*+bx>+cx8 W, a+b+c @427 (H, a,

b,ce=’dF)

—2x(x% +3x—1) = —2x> — 6x2 + 2x
a=-2,b=-6, c=2
na+b+c=(-2)+(-6)+2=-6




(a+3) (_g)% 20er5] & Aol A a2 o] ASE x, a o ASE y

o g, x4y ] 7L

@ -12 @—6 ® -1 @ 6 ® 12




1 = o=
- —xy(6x3y - 12x%y) & H3s] F Ao A 2212 A&

a @ SV, 13490] ASE b 2t & W, ab O] GES Fatele

9. x(5x-2)

@o @ 4 ®@-4 @16 O -6

B ~

1

x(5x —2) 5 (6x3y — 12x2y)
Xy

—Bx2— 9x— (M)

6xy
= 5x%2 — 2x — x% + 2x = 4x>
o2t g =4, b=09E2 ab=4%x0=0 o|c}.




10. (x+a)(x-4)=x>-b> <, a+b 2 F2? (T b>0)

® -16 @ -8 ® 2 @)8 ® 16

B

(x+a)(x—4) =x*>+ (a-4)x—4a = x*> - b?
a-4=0°B2 g=4

b2 = 4da = 160|128 b =4 (- b > 0)
“a+b=44+4=38




11.

L=+ )1+ +y") & ADa] 5ha7

@1+y32 @1+y2 ®1—y2
@ 1—y4 @1—)78
1-yH)(1+y%)

Q-1 +y) (1 +y*) = (
=1

-y
8




12.

(x=3)(x+3)(®+[ ) =xt—81oM[ okl

®-3 @3 @6 @

rlo

® 18

¥




13. (4x—5y+3)(x + 3y) B AARE 0, 2y o] A5E Fopoet,

> E.

> ®™e: 7

(4x = 5y + 3)(x + 3y) = 4x? + 12xy — 5xy — 15y? + 3x + 9y =
4x% + Txy — 15y° + 3x + 9y




14. (ax-2)(7x+b) B AN Alo] ex? + 10x - 16 & W, 4= a,b, ¢ °l
tote] a + b+ ¢ 9] & Ftei et

>

> Heh: 32

B ~
(ax —2)(7x +b) = Tax*> + (ab — 14)x — 2b

Tax® + (ab - 14)x — 2b = cx® + 10x — 16

—-2b=-16, ..b=38

ab—-14=10,8a-14=10,8a =24, ..a=3

Ta=c, ..c=21

La=3,b=8, c=21

Sa+b+c=32




15.

@ b] = (a+b)2 Do, [2x, —3y] - 2x [-x, 2] B 73] 547

@ 2x2_4xy—2y2 @ 2x2—4xy+2y2
©®)2x? - axy + 52 @ 2x° + dxy +)?

® 2x% + 4xy + 4y?

(2x - 3y)2 — 2 x (—x + 2y)?
= 4x% - 12xy + 9y — 2(x2 — dxy + 4?)
= 2x2 — 4xy +y?




16. axb=(a+b)2 02 HoJg u, 2x* (—y) 4 x* 2y S 7HHs] 5hH??

@D 2x2 + 2y? @ 3x% +3y? @ 4x? + 4y?

(@)5x2 + 5y? ® 6x% + 6y

(2x - )% + (x +2y)°
=4x% — 4dxy + % + 1% + dxy + 4?
= 5x% + 5y?




2
17. @wgg © AMSE ax? — bay + by? o|Th. olT, A2 a . bo

thate] 2 o gre?

® 5 @ 10 ® 25 @100 ® 125

B ~

1 1\? 1
(5x)% =2 x 5x x §y L (iy) = 25x% — 5xy + é_lyQ

a
- =25x4=100
b X




18.




2
19. o 3 (a+5b) B Wl 2e R

O -

0

(a_z

1

a— —

2
)

1
=b

2

@ —(a+%b)2 ® (—a—%b)2

® (a+ %b)2




1 1
20. 12 <§x—|— Zy) (

4 3
@® §x2 —12xy + Zyz
® §x2 +12xy + —y?
3 4

3o, 2o
@4x+3y

3
o




2
21. (x—a)(2x+3):2x2—% A, 2a-b 9 F2? (F,b>0)

-2 @-9 G @ 3 ® 9

B

2) () =262 (2)

9
=92x2 -2
S

wehA ¢ — gom b2 = 90|BZ h=3(- b > 0)
v 2a-b=3-3=0




22, (x-2)(x® +4)(x + 2)< AANsHA?

D x2-16 @ x*+4 ® xt-4
C@)x4—16 ® x*+4

(x=2)(x+2)(x>+4) =(x2-4)(x> +4) =x* - 16




23. (3x—1)(x+%) (x2+$>:3x“+b°ﬂ/\']l|:—%—/f—a,bg]ja"abgl
&2
O @5 00— @5 0-;
S5
3(e-3) (+43) (#+5)




